EARAROBEEIERT — 2 N— IBISH —F

201556H 158 (B) 3EIKIR3H

N C 24 5% (w8 | mEmml - |5 5) o 8
[A&4£] 1 7% :100,000  ~ 23#&:20,000”  33%&:10,000 M  43#&:7,000H ~ 53 :3,000H
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
IS=TIARZ b o6 | MARE 1:(3_1).1 7-6-4-4 |39.4| — | 5 | 437 gggﬁ; (%)
QTAUALER BT F O | Xtz
Sw A =—ISF 1 F o4 | RS (12311/25) 3331 [40.2| — | 2 (ﬂz) l/ij%\*mgfg (B4R
L:ZFAT—I K B:aA7LINTF1F b e
ELLFAEF ¢ 4 8 55516_3%“1% 1:(311>.7 5-4-5-5 | 40.0 | — 1 513 §%§ (KiR)
L FT— BTUHTAT 0| s
TIUINR Y v i 5 gﬁ)ﬁﬂ‘a (173; g) 1-1-1-1 | 40.9| — 4 | 452 §$§2 (BF)
LT bFh—b BiELY2TFY 6) | sipais
3 o B4 | BIEREER 1:31.8 2-2-1-1 [40.9| — 7 458 | fE<AREE] GKR)
555 |71 hIauds 54.0 1/2) () | FHEL
RZZXHT 1=y X B:T7T5T—IXZ ZH 24
. R SIS .30 e . = EERE (KR)
6l7|7|vTLbrax -G Wy | T 0 P e [mEes
LiLX1T—AN— BT —T 44— BHE —1T
. N o = =i E : -5-7- — SARERE (AKR)
N BBy s | ER S e o AaEe
RHHIRG 4TI BT RE— b oy Riis
® I —F—EBIERL
13=7r= 4,5,2,6,(1,7),3
2a|=7r= 4,5,2,1,6,3,7
da=3r= (4,5),2,3,(1,7),6
40—+ — (2,4,5),3,1,7,6
[ N3
H OB 3 640/ 714K 2-3 330M B = 2-3 1,100/ 3EHE 1-2-3 1,210
8 B 8 350 1-3 420MH B H &2 2,150 K31 3-2-1 9,170M
2 290/ 1-2 410

ABICOVWTRDTEEERROODE. TR LIV,




